q x &
Gx3) 6 (x9), ax
(ax) & 8 ax
S@K‘{"‘)—q + q )(z-*L('gK
CO oD

SRl

e ——————

— Fx




U)Kz’ —(ogx+t3X
K TH
€

o
e
e
e
R

\6>< L
s (x8)




- —
x> “
xt3 —(8x=9
LT+ X
13 -4
$
X LD (ExN )
o[© 8) 8 xt5 ), 2
1 o) < (557 %
Suxtle | ~Sxt >
Lo a

g

aoy U435 42U A
T 3
28x°







s |

LcD Gx-& [x1¢4,

Iy™ 2\ %S(UCHZ_[’ 2SN =B £ 76
Lo LCH

AT 3% 42 ASUX 58X U 04
— Cch

T 456y -2EX f 92
— ¢d

= T
(24 +33x €52,
Gx-% (xts)




Xﬂo Lets ( <HO(X6)

T«
L X ‘h’ )
e %/m

3 (Tt SxE oK, kP 10T e =y

X T T
NETC A . 8 > 41 0 32
/”"““""’"MM L/CD
Dy ey 4 L6y 70X
LCD
/,-—-—i""/




3%+ 5K X— +
A3 L - { 2x-5)
SX+4 xS

T %
0 Y LCD[X ?l@?ﬂ{

)(4) S)({’?J (_,).C——-« '}3(
(:Jf) 0(;)7%5 + L\ ?- 3)(3.@,6()

[¢
W&xﬂ‘% i)c S5

257 =2
_._qx‘{ ,%\SK (5K + +/L,¢28f*7>)&§_fm_l,

LCD

— O 165 31 0k T+ 28X 35X 2

P e (

Facle e ax -2l

Nv—b-&—g)(’l/x' -%)




2 |
K f/ZX . lé-Kz__éK

Uxt5 11X
KT x—2 .[3X

XS 3 \3X
x - 2X

— ux-<

Tt 3 LD (x=3)(Ux+s)

2_
XX + T \ (Lf?(‘l\

L xS X =3

X2 ) (X3 ) ”t txt2
x| xt3 X‘"% /—f)(ff

X —2x* A3%° *—&X’ ~1hk +8)(-—~2O><-f—(0

-+ b T =N
LB L CD
x> —lox2— 2 +3xE ~b i 20X +EX L0
= LD

S

(® = OXTH3cT —2bx +EK 1O ‘Kg-l S l8x+0

P

o T (e




